Table (3-2) Diffraction Coefficients (kq), Wiegel,

(1962).

A (Degrecs)
riL a 15 3a 45 50 75 o0 105 120 135 153 165 180
8=15
/2 040 o079 083 090 097 101 1.03 1402 101 099 099 100 1.00
1 038 073 083 095 104 104 099 095 101 101 100 100 1.00
2 021 09.68 086 105 1.03 097 1.02 099 100 100 100 100 1.00
5 013 0.63 099 1.04 103 1.02 099 099 100 101 100 100 1.00
10 035 058 110 105 098 099 10L 100 100 100 100 100 1.00
8 = 3r
/2 041 063 048 076 057 097 103 105 103 101 099 095 1.00
1 050 0.53 063 078 095 1.06 105 093 093 101 101 097 1.00
2 040 044 059 0834 107 1.03 09 1.02 093 101 099 095 1.00
5 A?7 M2 155 1.6 104 104 1072 098 a99 1aa 1.al 097 1.aa
Mm A a4 Ns4 117 1068 097 09l 1Al 1aa 1aa 1aa a9f  1.0a
0 = 45
/2 049 050 055 063 073 035 09 104 106 104 100 099 1.00
1 0.38 040 047 0.5 076 095 107 1.06 098 097 101 101 1.00
2 029 031 039 05 033 1.08 104 09 103 098 101 100 1.00
5 018 020 029 054 101 1.04 105 1.03 100 099 101 100 1.00
0 o013 415 022 453 113 107 09 0935 102 099 100 100 1.00
8 = 60°
142 080 04l 045 052 060 072 O35 113 104 10 103 101 100
1 031 932 036 044 057 075 095 1035 106 095 095 101 1.00
2z 0.22 923 028 037 055 033 1083 104 096 103 098 1Ol 1od
5 U.14 U015 U1E 023 US53 1LU1 104 105 103 U8 09y 10 1.0
10 U0 011l W13 021 052 114 1407 USs O8dF 101 LU0 1AM 1.0
9=75
12 0.34 035 038 042 050 059 071 085 097 104 105 1.02 1.00
1 0.25 0926 029 034 043 056 075 095 102 106 098 093 1.00
2 0.18 017 022 026 036 054 083 107 104 09 103 099 1.00
5 0.12 912 013 017 027 052 101 104 105 1403 099 099 1.00
10 0.08 008 0.10 013 020 052 114 107 096 098 101 100 1.00
8= 90F
12 031 031 033 036 041 049 059 071 035 09 103 103 1.00
1 022 023 024 028 033 042 056 075 096 107 105 099 1.00
2 016 0.16 0.18 020 026 035 054 069 108 104 09 102 1.00
5 nin a1 nil a13 ala 427 a5t 101l 104 1405 1.07 a99 1.0
10 007 007 002 000 013 020 052 114 107 095 o0 101 1.00
8 = 105
12 028 028 020 032 035 041 049 059 072 0385 097 101 1.00
1 0.20 020 024 023 027 033 042 056 075 095 106 104 1.00
2 014 014 013 017 020 025 035 054 083 108 103 097 100
5 009 009 010 011 013 017 027 052 102 104 104 102 1.00
10 007 006 008 008 009 012 020 052 114 107 097 099 1.00
o = 1207
142 025 026 027 0235 031 035 041 050 060 0973 087 097 100
1 015 919 019 021 023 027 033 043 057 076 095 14 100
2z 013 013 W14 Wl4 017 O uU2ZU uZe U6 U535 UHEd LU7 103 1au
5 UUE O U U0y 01l U3 Wls U277 053 101 Lue 1u3d 1aa
10 006 006 006 007 007 009 Q13 020 052 113 106 093 1.00
=135
12 024 024 025 026 028 032 036 042 052 053 0.76 090 1.00
1 0.18 0.17 0.18 0192 021 023 028 034 044 059 078 095 1.00
2 0.12 912 013 0d14 0ol4 017 020 026 037 0.5 084 105 1.00
5 0.08 0.07 008 008 009 011 013 0.17 028 054 100 104 1.00
10 0.05 005 006 005 007 008 009 013 021 053 112 105 1.00
8= 150
12 023 023 024 025 027 029 033 038 045 055 068 03833 1.00
1 016 0.17 017 018 019 022 024 029 036 047 063 033 1.00
2 0.12 012 012 013 014 015 018 022 028 039 059 086 1.00
5 0.07 007 008 0085 003 010 011 013 01838 029 055 099 1040
10 005 005 005 006 006 007 008 010 013 022 054 1.10 1.00
8= 165
12 023 023 023 024 0.26 028 031 035 041 050 063 079 1.00
1 016 0.16 017 0.17 019 020 023 026 032 040 053 073 1.00
2 011 011 012 012 013 014 O16 019 023 031 044 068 1.00
5 naz aa?7 na7 a7 aag om0 ei? als a?a aid? aas3l 1a0a
1M A5 aa5 0a5 a6 aa8 1068 Qa7 aat a1l o all a2l asg 1a0aa
o = 180
12 020 025 023 024 025 028 031 034 040 049 061 078 100
1 0.10 917 016 018 0182 023 022 0925 031 038 050 070 1.00
2 0.02 0.09 012 0.12 013 018 Ol 0.18 032 029 040 0.60 1.00
5 002 006 007 007 007 008 010 012 014 018 027 046 1.00
10 001 005 005 0.0 0.06 007 0.07 003 010 013 020 936 1.00
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Example (3-4):

For a harbor which protected by the shown breakwater system in the following
figure, subject to normal waves with 2 m wave height and 8 sec wave period. The
water depth at the breakwater gap is 7 m. Calculate the wave height at the point
A with coordinates of X, =150 m and Y, = 250 m (measured from the gap center).

Wave Direction
h=130 m
:]h—x‘l:
Y R
A

Shoreline

SOLUTION
L,=1.56 T*=1.56 * 82 =100 m
d/L,=7/100=0.07 from Table (3-1)
d/L=0.1139 the L=615m
b/L=180/61.5=2.93 <5 (Double Breakwater)
X/L=150/61.5=2.44
Y/L=250/615=4.1
From chartof b=295L =y k;=0.35 then
HA=kd*Hi=0.35* 2

H,=0.7m

Example (3-5):
Waves with a period of T= 8 sec and height of H = 2.5 m strike upon a double
breakwater at an angle of 90°. The water depth at the head of the breakwater is 8 m.
Find the wave height at point A with coordinates of X = 400 m and Y = 200 m
(measured from the gap center) when:

e The breakwater gap is 400 m.

e The breakwater gap is 130 m.
SOLUTION
For Breakwater Gap of 130 m

. . l Wave Direction
Wave Direction

b=-400m.
b=130m = _
— el [ = ok
200 m
l_- £ R NA
200 m L
Y A
= J_ =45 200 m
6 =90 ] o=

F——400m — —— 400m —



L,=1.56 T*=1.56 * 82 =100 m

d/L,=8/100=0.08 from table

d/L=0.1232 the L=65m

b/ L=130/65=2 <5 (Double Breakwater)

X/L=400/65=6.2

Y/L=200/65=3.1

From chartof b=20L ==y k;=0.1 then

Hyo=ks *H;=0.1*%25

H,=0.25m

For Breakwater Gap of 400 m

b/L=400/65=6.2 >5 (Single Breakwater)

o=45" , R=282m and 0=90°

R/L=282/65=4.34

From chart of 0 =90° or Table (3-2) == Kk;=0.145 then

Hx=kq * H;=0.145 * 2.5

H,=0.36 m
Wave Forces sl ) Lif gt o 7] 9a¥) 598 ¥
I- Non-Breaking Zone
H
a0 Sea Side T Harbor Side
Sainflou Formula ) / T,
2 1 1] (0.00)
oo KHY koL ' el
®  2tanh(kd)
H
P, = vy d
cosh(kd) l
H+h P
P, =(yd+P,)(— —° e el
! (y 2 )(H + ho + d) G e e e e
II- Breaking Zone:
H sea side = T ]

—2>1.0 l
dg |

Miniken Formula B, Tiyn
P =101yﬂ$(n+d) ‘
L, D *
D

HE &
—-l

dyn
D

YH,

st. 2
D = m*L + d, =1
L:d, G & alllie agdsh
Lp: D (s o A dsh




